Maths | Year 5 | Multiplication and Division | Problem Solving Equals Sign | Lesson 2 of 5: The Distributive Law
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The Distributive Law
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Aim
* I can use my understanding of the distributive law to help me to solve
problems.

Success Criteria

* I can explain what the distributive law is.

* I can solve equations with brackets in them by writing an equivalent
calculation.
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The Distributive Law

The equals sign means that the numbers or calculations on either side of
the sign must have the same value. They have to balance.

A

must have the same value as... »

[~

whatever
is on this
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The Distributive Law

Do these scales balance?

Yes it does!
Both sides
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The Distributive Law

Does 3 x (4 + 5) equal (3 x 4) + (3 x 5)?

3x(4+5S)

X X X
The a'/str/Mve% s%s that
3x (4 + D& (K43 x 5) -
We c>$o use.>><alge>< ﬁ: i
(where letters rep-rlgsent numbers) f 4 Xhave tx; b4
tKplIKthiDK ><e ¢ e ] $’9M eb(”ex

00+ 38 GRpan0 XtoMeiigéwjb ”g’ %
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Make It Balance

Are these equations correct?
Would the see-saws balance?

Yes!
6x(3+7)=6x10 =60
7x6+3x6=42+18 =60
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Banish the Brackets o®

Can you write an equivalent calculation to make these equations correct?

a)3x(3+6)=3x23+3x8

*:" b)2x(2+3)=2x12+2x2
D8 ) 4x(4+1)=4x4+¢x)
- B ad)6x(2+3)=6x2+6x3
@Y e) 7 xG6x+63) 396 6 +3x7

REMEMBER ‘
Multiply the number outside the
brackets by each of the numbers
inside the brackets. Then, add
them together.
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Subtraction o

Does the distributive law work if the calculation in

the brackets involves subtraction instead of addition?
Zz z

o S EEEEEE— |
= M=l

Use these calculations to test your prediction.

a) 3 X &’es z%)a’eeB pdrl. 3 x ?

=2x6-2x7?
=3 x - HxF

/ / TOP T/P1 / ? —

To igRestizBé this, mulikply Bbe=&im ber Il
outside the brackets by each of the numbers \ A u 2

inside the brackets. Then, subtract them.
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Distributive Dilemma

Use your marvellous maths skill to complete these activities:

* 7N
Distributive D Jg Distributive D [y l\%/" * Distributive Dilemma

1 can use my understanding of the distributive I

( 1 can use my understanding of the distributive I

Write out the equivalent calculation and then fin

The first one is completed as an example.

1)

Write out the equivalent calculation and then fin

The first one is completed as an example.

Calculation Equivalent Calculal
(with brackets) fwithout brackets

Calculation Equivalent Calculal
(with brackets) {without brackets

4x(6+2) 4xE+4x2

Lx(6+2) 4xs+4x2

2% (3+35)

4x(3+5)

9%(9-2)

2x(6-2)

( 1 can use my understanding of the distributive law to help me to solve problems

You will need a set of Distributive Law Cards.

Match up the calculation with brackets, calculation without brackets, array and answer.

Check your answers with a partner.

Write them in this table,

Equivalent
Calculation Array
(without brackets)

Calculation
(with brackets)

Answer

8% (7+7)

5x(7+7)

Tx9+7x3

gx(8-2)

Tx6+3)
8x(9-2)

4x(12-2)
9 x (7+4)

4x(4-2)
9x(T+1)

dodnioloink
Yedrdokdrk e
doddrknk ol
dedrdodedrk e

an{hed) Andpehad

3x12-3x12

4= (45 - 0)

4% (20-0)

1214 +12 %2

12 % (4+32)

Wiite a calculation to go with each of these problem

a) Eric has 16 packets of biscuits, each containing &
each containing 8 biscuits. How many biscuits d

b) Liu gets 17 pieces of ribhon, each one is 6cm
one is also 6cm long. If they loy them end-to-es

¢) Khalil and Corina have 24 packets of & sweet:
Khalil is greedy and eats 6 of the packets befol
are left for them to share naw?

Wirite a calculation to go with each of these problem

a) Eric has & packets of hiscuits, each containing 9
each containing 9 biscutts. How many biscuits d

b) Liu gets 5 pieces of ribbon, each one is 6cm long.
also 6cm long. 1f they lay them down end-to-e

¢) khalil and Corina have 12 packets of 3 sweet
Khalil is greedy and eats 5 of the packets beft
are left for them ta share naw?
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Algebra G2

@
The distributive law states that 3 x (4 +5) =3 x 4 + 3 x 5
We can use algebra (where letters represent numbers) to explain this:

PEE—— i - S YT T D N L e S S WG

S

ax(b+c)=axb+axc| What does a represent in
or these equations?

alb +c¢c) = ab + ac

a(2+3) =a2+a3=20
We don’t have to use the
multiplication sign here. a(l0-8) =alo-aS=§

When the letters are next
to each other, it means | Can you write some of your
that we multiply them own eqguations and test

together, e.g. your friends to see if they
ab means a x b. can solve them?
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Aim
* I can use my understanding of the distributive law to help me to solve
problems.

Success Criteria

* I can explain what the distributive law is.

* I can solve equations with brackets in them by writing an equivalent
calculation.
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